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Question 1: Every morning, my father usually drinks several cups of tea, has a breakfast and then leads
the buffalo to the field.

A. quick B. quickly C. quickness D. quicker

Pap an A

A. quick /kwik/ (a): nhanh

B. quickly /kwikli/ (adv): mot cach nhanh chéong

C. quickness /' kwiknas/ (n): sy nhanh, sy mau chong

D. quicker /kwikar/ (a): nhanh hon (so sanh hon)

Can c vao danh ti “breakfast” nén vi tri trong can mat tinh tir. Vi theo quy tac tredc danh tir 1a tinh tir:
“(a/an) + adj + N”

=> T do, ta loai phuwong an B, C.

Dich nghia: Mo6i sang, bo t6i thwong nham nhi vai tach tra, an sang nhanh réi dan trau ra dong.

*Cau trac can luu y: lead sb/st to...: dan ai/cai gi tdi...

Question 2: There is a party at your home, ?
A. isn’t there B. is there C.isn’tit D.is it
Question 2.Pap an A

Dich nghia: “C6 mot bita tiéc tai nha caa cau phdi khong?”

Cau bat dau vdi there is thi thanh 1ap hoi dudi sé dung isn’t there.

Question 3: There's a lot more to Willie than one would think: still waters run .

A. deep B. deeply C. deepness D. depth

Cau 3: Pap an A

Kién thirc vé thanh ngiv

Still waters run deep (idm): Nhitng ngwoi kin ddo méi la nhitng ngwoi sau sac; tdm ngam tam ngam ma
dam chét voi.

DPép an con lai: Khéng diing cau tric thanh ngt.

Tam dich: C6 rat nhiéu diéu vé Willie hon ngudi ta nghi: tam ngdm tam ngam ma dam chét voi.

Question 4: The children are highly excited the coming summer holiday.
A. with B. to C. for D. about
Pbap an D

Xét cac dap an:

A. Cau tric: excited with: hoi hgp vi. => Khong hgp nghia.

B. Cdu tric: excited to do sth: cam thay vui vé, phan khich (khi lam diéu gi d6). => Khong hgp nghia.

D. Cau tric: excited about: hao hitng. => Dich nghia: Cac bé rat hao hitng v&i ky nghi he sap tdi. => Hgp
nghia.

Question 5: The police have every good to believe that he is guilty.
A. excuse B. cause C. reason D. ground

Question 5:

Chon dap an C

Excuse: li do, 16i bién hd( dé giai thich nguyén nhan vi sao ai do lai bi sai [am)
Cause: nguyén nhan sau xa nguon goc van de

Reason: nguyén nhan ( 1y do dwa ra dé giai thich cho van dé gi da xay ra)
Ground : nén tang, ca sd ( chd dwa cho cai gi dugc hinh thanh)

Cau truc” have a very good reason to do st” c6 moi li 1€ dé lam gi
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Question 6: Many students work to earn money their parents are rich

A. because of B. despite C. however D. although
Pbap an D
Dich nghia: Nhiéu sinh vién lam viéc dé kiém tién mac du cha me ho giau cé.
Xét cdc ddp dn:
A. because of — Lién ttr chi nguyén nhan, sau because of (bdi vi) la noun/noun phrase (DT/cum DT), khong
phai clause (ménh dé)
B. despite — Lién tir chi sy di 1ap, sau Despite (mac du) = In spite of la noun/noun phrase/V_ing (DT/cum
DT/V_ing), khong phai clause (ménh dé)
C. however — Lién tir chi si doi 1ap, sau however (tuy nhién) la clause (ménh dé), dich ca cau: Nhiéu sinh
vién lam viéc dé kiém tién tuy nhién cha me ho giau c6. (khong hgp 1y)
D. although — Lién twr chi sy doi 1ap, sau Although (mdc du) = Even though = Though = In spite that la clause
(ménh de)

Question 7: When I was going to school this morning, I saw a girl. She asked me how to get to
Hoan Kiem Lake.

A. beautiful young blonde Russian B. beautiful young Russian blonde

C. blonde young beautiful Russian D. Russian young blonde beautiful
7.Dap an A

Theo quy tac cua trat ty tinh tt: OSASCOMP

=> Pap an la A: beautiful - O, young - A, blonde - C, Russian - Origin

Tam dich: Khi t6i t6i trudng vao sang nay, t6i da nhin thay maot c6 géai Nga tré dep, toc vang hoe. C6 ay hoi
toi dwong t¢i ho Hoan Kiém.

Question 8: Our refrigerator just a month after the guarantee had expired.
A. broke off B. broke up C. broke into D. broke down
Pap an D

A. broke off: bong ra, long ra, chdm ditt quan hé

B. broke up: chia tay

C. broke into: dot nhap

D. broke down: hong hoc, dam phén thét bai

Dich nghia: Ta lanh ctia ching t6i da bi hong chi mot thang sau khi hét han bao hanh

Question 9: When I came to visit her last night, she a bath.
A. is having B. was having C. has had D. had had
9.Pap an B

— Can ct vao day la ménh dé trang ngit chi thoi gian: When S + V (qua khit don), S + V (qua khit tiép dién).
( Dién td mot hanh dong dang xay ra thi c6 hanh dong khac xen vao).

Vé chita “when” chia thi qua khit don => V& con lai chia thi qua kht tiép dién.

— Dich: Khi t6i dén tham c6 ay toi qua, co ay dang tam.

Question 10. , I will give him the report.
A. When he will return B. When he returns
C. Until he will return D. No sooner he returns

10. Pap an B

Kién thirc: Ménh dé chi thoi gian / Sy hoa hgp thi trong ménh dé

Giai thich:

Meénh dé chinh chia thi twong lai => dong tr trong ménh dé chi thoi gian chia thi hién tai (hién tai don, hién tai
hoan thanh).

When +S+Vo/s/es +..., S+ will + Vo.

Loai dap an A,C, sai thi, va dap D chwa dang nghia .

Tam dich : Khi anh ay vé, t6i sé dwra cho anh ay ban bao cao.
Question 11. During the interview, you should try to a good impression on your interview.
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A. Create B. have C. give D. try
Question 11: A

Cum twr “ create a good impression on sb” tao an twgng tot vai ai do

= bap an A

Tam dich: Trong cudc phong van, ban nén c6 gang tao an twong t6t cho cudc phong van cta ban

Question 12: Don’t criticize me. If you yourself in my position, you would behave the same.
A. set B. put C. think D. consider
12. Pap an B

A. set /set/ (v): dé, dat

B. put /pot/ (v): dé, dat

C. think /81gk/ (v): nghi

D. consider /kan'sidar/ (v): can nhac, xem xét

Cau tric: put yourself in somebody’s position: thitr dat minh vao vi tri/hoan canh ctia ngwoi khac
Dich nghia: Dtng chi trich t6i. Néu ban thir dat minh vao vi tri cta t6i, ban sé hanh x@ twong tu.

Question 13. - “What a beautiful dress you’re wearing!” - “Thank you. It especially for me by an
Italian tailor.”
A. was made B. is made C. has made D. makes

Question 13. Pap an. A

Giai thich: Dya vao ngir canh thi hanh dong & cau sau xay ra trong qua khit. Chu ngit it (no - cdi vdy) la doi
twong cta hanh dong make (Iam) nén ta dung thé bi dong.

Dich nghia: - Chiéc vdy ban dang mdc thdt la dep! - Cdm on cdu. N6 duoc mot tho may nguoi Y lam riéng

cho minh ddy.
Question 14:: for 6 hours, they decided to stop to have lunch at 1.00 pm.
A. Having been work B. Having worked C. Working D. Worked

Question 15: B

Kién thirc vé phan tir hoan thanh

Phan tir hoan thanh (Having + Vp2) dung d€ nhdn manh moOt hanh ddng da xay ra xong roi mdi téi
hanh

dong khac.

Tam dich: Lam duwoc duoe 6 tiéng, ho quyét dinh dirng lai d€ an trura luc 1h chiéu.

Question 15: It is getting hotter and every summer. I guess that is the result of global warming.
A. less B. more C. colder D. hotter
15.Pap an D

HD: Dich nghia: Thoi tiét dang trd nén nong hon va nong hon moéi mua hé. T6i doan do 1a két qua cda sy nong
1én toan cau.

Xét cac dap an:

A.less — Sai cdu tric so sanh kép

B. more — Sai cau tric so sanh kép

C. colder — Sai cau tric so sanh kép (hai tir phéi giong nhau, tridc 1a hotter thi sau cling la hotter)

D. hotter — Cau tric so sanh kép: adj-er + and + adj-er (cang ngay cang) (dung vdi tinh tir ngan)

Mark the letter A, B, C or D to indicate the correct response to each of the following exchanges.
Question 16: “How was the game show last night?” - « e

A. It showed at 8 o'clock. B. Just talking about it.

C. I think it wasn't a good game. D. Great. I gained more knowledge about biology.

Question 17: “What did the meeting discuss? I didn’t attend it because of traffic jam.” - “
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A. I didn’t, either. B. That was great.

C. You missed the meeting. D. I’m sorry, I can’t.

16

Pap anD

Tam dich: “ Chwong trinh truyén hinh t6i qua thé nao?”

A. N6 dugc chiéu vao luc 8 gio.

B. Ta chi néi chuyén vé no.

C. T6i nghi n6 khong phai la mot tro choi hay.

D. Tuyét voi. Toi da tiép thu duwge nhiéu kién thitc hon vé sinh hoc.

17.

Papan A

“ Cu0c hop da ban luan vé van dé gi vay? Toi da khong tham dy dugc vi tac dwong.” 7
A. Toi cling vay.

B. N6 rét tuyét.

C. Ban da 16 budi hoi théo.

Mark the letter A, B, C, or D to indicate the word that differs from the other three in the position of primary
stress in each of the following questions.

Question 18: A. inflation B. maximum C. applicant D. character
Question 19: A. bamboo B. forget C. deserve D. channel
18.

Papan A

A. inflation /i fleifn/(n): lam phat (tit nay c6 trong am roi vao am tiét thi¢ hai. Vi theo quy tac duo6i —ion lam
trong am roi vao trede am do.)

B. maximum /'meksimam/(n): t6i da (tir nay c6 trong am roi vao am tiét dau. Vi theo quy tac néu tat ca cac
am ma ngan hét thi trong am roi vao am tiét dau.)

C. applicant /' @plikant/(n): nguoi nop don

Twr nay c6 trong am roi vao am tiét dau. Vi theo quy tac néu tat ca cac am ma ngan hét thi trong am roi vao am
tiét dau.

D. character /' kerakta(r)/(n): nhan vat

T nay c6 trong am roi vao am tiét dau. Vi theo quy tac néu tat ca cac am ma ngan hét thi trong am roi vao am
tiét dau.

=> Phuong an A c6 trong am roi vao am tiét thit hai, cac phwong an con lai cé trong am roi vao am tiét thi
nhat.

Cau 19

Pap anD

A. bamboo /baeem 'bu:/ (n): tre (tir nay c6 trong am roi vao am tiét thit hai. Vi theo quy tac, trong am wu tién roi
vao nguyén am dai /u:/.)

B. forget /fa’get/ (v): quén (tir nay c6 trong am roi vao am tiét thit hai. Vi theo quy tac trong am khong roi vao
am /3/.)

C. deserve /di'z3:v/ (v): xitng dang (tt* nay co6 trong am roi vao am tiét thit hai. Vi theo quy tac, trong am wu
tién roi vao nguyén am dai /3:/.)

D. channel /'tfeenl/ (n): kénh (tir nay c6 trong am roi vao am tiét dau tién. Vi theo quy tac néu tat ca cac am ma
ngan hét thi trong am roi vao am tiét dau.)

Pap an D c6 trong am roi vao am tiét thit nhat, cac phwong an con lai c6 trong am roi vao am tiét thit hai.

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from
the other three in pronunciation in each of the following questions

Question 20: A. missed B. talked C. watched D. cleaned
Question 21: A. find B. think C. drive D. mind
Cau 20

Pap anD

A. missed /mist/
B. talked /to:kt/
C. watched /wot/t/
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D. cleaned /kli:nd/
Gidi thich: C6 3 cach phat am ed chinh:
1. Budi /ed/ dwgc phat am la /t/: Khi dong tir c6 phat am két thac la /s/, /f/, /p/, /[/, /t[/, /k/ va nhitng dong tir c6
ttr phat am cudi la “s”.
2. Pubi /ed/ dugc phat am la /id/: Khi dong tr c6 phat am két thic la /t/ hay /d/.
3. Budi /ed/ dugc phat am la /d/ v&i nhitng treong hgp con lai.
Cau 21
Pap anB
A. find /famnd/
B. think /8imk/
C. drive /drarv/
D. mind /maind/
=> Pap an B dugc phat am la /i/. Cac dap an con lai la /ai/.
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning
to the underlined word(s) in each of the following questions.
Question 22.The maintenance of these old castles must cost a lot of money.
A. building B. foundation C. destruction D. preservation
Question 23. People in the mountainous areas are still in the habit of destroying forests for cultivation.
A. planting B. farming C. industry D. wood
Question 22. D
Giai thich: maintenance (n): su gitt, sy duy tri
building (n): sy xay duyng, toa nha foundation (n): sy thanh lap, sw sang 1ap
destruction (n): sy pha hoai, s pha huy preservation (n): sy gitt, sy bao ton
=> maintenance = preservation
Tam dich: Viéc duy tri nhitng lau dai c6 nay phai t6n rat nhiéu tién.
Pap an: D
Question 23. B
Giai thich: cultivation (n): su canh tac, sy trong trot
planting (n): sy trong cay farming (n): nong nghiép, canh tac
industry (n): cong nghiép wood (n): go
=> cultivation = farming

Tam dich: Ngudi dan ving nui van cé théi quen pha ritng dé trong trot.

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the
underlined word(s) in each of the following questions.
Question 24. School uniform is compulsery in most of Vietnamese school.
A. depended B. optional C. obligatory D. required
Question 25. Names of people in the book were changed to preserve anonymity.
A. cover B. conserve C. presume D. reveal

Question 24. B

Giai thich: compulsory (a): bat budc

depended (a): phu thudc optional (a): c6 thé lia chon
obligatory (a): bat budc required (a): dugc yéu cau
compulsory >< optional

Tam dich: Dong phuc trudong la bat budc véi hau hét cac treong ¢ Viét Nam.

Pap an: B
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Question 25. D
Giadi thich: preserve (v): gitt, bao vé
cover (v): bao phu conserve (v): gitt
presume (v): du doan reveal (v): tiét 16
preserve >< reveal
Tam dich: Tén cta nhitng ngwoi trong cuén sach da dugc thay doi dé bao vé sy giau tén.
Pap an: D
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning
to each of the following questions
Question 26: She didn’t understand the benefits of volunteering until she joined this club.
A. Not until she joined this club did she understand the benefits of volunteering.
B. It was not until she joined this club did she understand the benefits of volunteering.
C. Not until did she join this club, she understood the benefits of volunteering.
D. Not until she joined this club that she understood the benefits of volunteering.
Question 27: He didn’t prepare well for his GCSE examination and he regrets it now.
A. Unless he had prepared well for his GCSE examination, he wouldn’t regret it now.
B. But for his ill preparation for his GCSE examination, he wouldn’t regret it now.
C. If it hadn’t been for his good preparation for his GCSE examination, he wouldn’t regret it now.
D. If he had prepared well for his GCSE examination, he wouldn’t have regretted it now.
Question 26. A
Kién thitc: Cau tric dao ngit “...not...until..”
Giai thich:
It is/ was not until + clause/ adv of time + that... + S + V = Not until + clause/ adv of time + auxiliary + S+ V :
Mai cho dén khi...thi...
Tam dich: Cho dén khi c6 tham gia cau lac bo nay, c6 méi hiéu dugc nhitng lgi ich ciaa hoat dong tinh
nguyén.
A. Cho dén khi c6 dy tham gia cau lac bo nay thi c6 d&y mé&i hiéu nhitng 1gi ich ctia hoat dong tinh nguyén. =>
ding
B. sai ngit phap: did she understand => she understood
C. sai ngir phap: stra lai giong cau A
D. sai ngit phap: Khong dung “that”
Chon A
Question 27. B
Kién thitc: Cau diéu kién loai hon hgp
Giai thich:
Cau diéu kién loai hon hgp dién ta gia thiét trai ngwge vai qua khit, nhung két qua thi trai nguwgc vai hién tai.
Cau trac: If + S + had + V.p.p, S + would + V.inf
If + S + had + V.p.p = But for + N = If it hadn’t been for + N
Tam dich: Anh dy da khong chuan bi tot cho ky thi tot nghiép va bay gid anh ay hoi han.
A. Néu anh dy khong chuan bi t6t cho ky thi t6t nghiép thi bay gio anh ay sé khong hoi han. => sai nghia B.
Néu khong phai vi si chuan bi kém cho ky thi t6t nghiép thi bay gio anh ay sé khong hoi han. => ding C. Néu
khong phai vi su chuan t6t cho ky thi tot nghiép thi bay gio anh dy sé khong hoi han. => sai nghia D. sai ngit
phap: wouldn’t have regretted => wouldn’t regret
Chon B
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Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs
correction in each of the following questions

Question 28. If you wanted to be chosen for the job, you’ll have to be experienced in the field.
A.in B. experienced C. wanted D. chosen for
Question 28. C

Kién thitc: Cau diéu kién loai 1
Giai thich: Cau diéu kién loai 1 dién ta gia dinh c6 that & hién tai.
Cau trac: If + S + V(s/es), S + will + V.inf
wanted => want
Tam dich: Néu ban mu6n dugc tuyén chon cho cong viéc, ban sé phai c6 kinh nghiém trong linh vie nay.
Pap an: C
Question 29. Several people have apparent tried to change the man’s mind, but he refuses to listen.
A. Several B. apparent C. mind D. listen
Question 29. B
Kién thirc: T vung
Giai thich: Can 1 trang tir ditng tridc dong tir dé bo sung nghia cho dong twr
apparent (a): ro0 rang => apparently (adv): mot cach ro rang apparent => apparently
Tam dich: M6t vai ngwoi c6 gang thue sy dé thay doi suy nghi cua ngudi dan 6ng nhung 6ng ta tir choi
nghe.
Pap an: B
Question 30. I’d prefer to do it by herself because other people make me nervous.
A. I’d prefer B. on herself C. other D. make
Question 30. B
Kién thitc: Cum twr
Giai thich:
By herself => by myself
Ta c6 cum “by oneself” = “on one’s own”: ti* minh, bdi ban than minh
Tam dich: Téi thich tw lam hon vi ngudi khac khién t6i lo lang.
Pap an: B
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in
meaning to each of the following questions.
Question 31. You should take regular exercises instead of sitting in front of the television all day.
A. Taking regular exercises is better than sitting in front of the television all day.
B. Sitting in front of the television all day helps you take regular exercises.
C. Sitting in front of the television all day and taking exercises are advisable.
D. Don’t take regular exercises, just sit in front of the television all day.
Question 31. A
Kién thitc: Pua ra 16i khuyén véi dong tir khuyét thiéu should
Giai thich:
Tam dich: Ban nén tap thé duc thuwong xuyén thay vi ngoi trudc tivi hang ngay.
A. Tap thé duc déu dan t6t hon ngoi trede tivi hang ngay. => ding
B. Ngoi trwde tivi ca ngay giup ban tap thé duc thuwong xuyén. => sai nghia
C. trudc tivi hang ngay va tap thé duc dugc khuyén khich. => sai nghia
Question 32. “I’ll call you as soon as I arrive at the airport,” he said to me.
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A. He objected to calling me as soon as he arrived at the airport.
B. He promised to call me as soon as he arrived at the airport.
C. He denied calling me as soon as he arrived at the airport.
D. He reminded me to call him as soon as he arrived at the airport.
Question 32. B
Kién thirc: Cau treong thuat
Giai thich:
Tam dich: “ TG sé goi cho cau khi t¢ dén san bay”, cau dy noéi véi toi.
A. Cau ta phan doi viéc goi cho t6i khi cau ta dén san bay. => sai nghia
B. Cau ta hita goi cho t6i khi cau ta dén san bay. => ding
C. Cau ta phu nhan viéc goi cho t6i khi cau ta dén san bay. => sai nghia
D. Cau ta nhac nhd t6i goi cho cau ay khi cau ta dén san bay. => sai nghia
Chon B
Question 33. Harry no longer smokes a lot.
A. Harry now smokes a lot. B. Harry used to smoke a lot.
C. Harry didn’t use to smoke a lot. D. Harry rarely smoked a lot.
Question 33. B
Kién thitc: dién dat cau véi cau tricCau tric “no longer”
Giai thich:
S + no longer + thi hién tai don = S + used to + V (hién tai khong con...n{ta = da tirng...)
Tam dich: Harry khong hit thudc nita.
A. Harry bay gi¢ hiit thudc nhiéu. => sai nghia
B. Harry da tirng hut nhiéu thudc. => ding
C. Harry da tirng khong hat nhiéu thude. => sai nghia
D. Harry hiém khi nao hidt nhiéu thudc. => sai nghia
Chon B
D. Khong tap thé duc thudong xuyén, chi ngoi triede tivi sudt ngay. => sai nghia
Chon A

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct
word or phrase that best fits each of the numbered blanks from 16 to 20.

Dressing up in costumes and trick-or-treating are popular Halloween activities, but few probably (34)

these lighthearted fall traditions with their origins in Samhain, a three-day ancient Celtic pagan festival.

For the Celts, who lived during the Iron Age in what is now Ireland, Scotland, the U.K. and (35) parts
of Northern Europe, Samhain (meaning literally, in modern Irish, “summer's end”) marked the end of summer
and kicked off the Celtic new year. Ushering in a new year signaled a time of both death and rebirth,
something that was doubly symbolic because it (36) with the end of a bountiful harvest season and the
beginning of a cold and dark winter season that would present plenty of challenges.

Eventually, Halloween became more popular in secular culture than All Saints' Day. The pagan-turned-
Christian practices of dressing up in costumes, playing pranks and handing out offerings have evolved into
popular traditions even for those (37) may not believe in otherworldly spirits or saints. (38) ,
whether Halloween celebrants know it or not, they’re following the legacy of the ancient Celts who, with the
festival of Samhain, celebrated the inevitability of death and rebirth.

Question 34.A. separate B. estimate C. associate D. celebrate
Question 35. A. each B. every C. another D. other
Question 36.A. coincided B. originated C. compared D. occurred
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Question 37. A. which B. whom C. who D. what
Question 38. A. Moreover B. However C. Instead D. Therefore

Cau 34: Pap an C

Phwong phap giai:

Kién thirc: T ving

Giai chi tiét:

A. separate sth into sth (v): phan tach, chia ra

B. estimate sth from/at sth (v): wdc luvgng, wéc tinh

C. associate sb/sth with sb/sth (v): lién két, két noi

D. celebrate (v): ky niém, ton vinh

Dressing up in costumes and trick-or-treating are popular Halloween activities, but few probably () associate
these lighthearted fall traditions with their origins in Samhain, a three-day ancient Celtic pagan festival.
Tam dich: Hba trang va chai trick-or-treat (bi gheo hay cho keo) la nhitng hoat dong pho bién trong 1€
Halloween, nhung c6 1€ it nguwdi lién két nhitng truyén thong mua thu thu vi nay véi nguon goc cua ching tr
Samhain, mét 1€ hoi ngoai gido c6 dai kéo dai ba ngay cia ngwoi Celt.

Cau 35: Pap an D

Phuong phap giai:

Kién thirc: Tinh tw

Giai chi tiét:

A. each + N s6 it: moi ...

B. every + N s0 it: moi ...

C. another + N s0 it: céi gi ... khac

D. other + N s0 nhiéu: nhitng ... khac

Sau cho trong la danh tir “parts” & dang s6 nhiéu => loai A, B, C

For the Celts, who lived during the Iron Age in what is now Ireland, Scotland, the U.K. and () other parts of
Northern Europe, Samhain (meaning literally, in modern Irish, “summer's end') marked the end of summer and
kicked off the Celtic new year.

Tam dich: D6i véi nguoi Celt, nhitng nguwdi song trong thai ky do sat ¢ noi ma ngay nay la Ireland, Scotland,
Vwong qudc Anh va cac khu vire khac ctia Bic Au, Samhain (nghia den, trong tiéng Ireland hién dai, "su két
thiic ciia mua heé") danh dau s két thiic cia mua hé va bat dau Nam mdi caa Celtic.

Cau 36: Pap an A

Phwong phap giai:

Kién thirc: T ving

Giai chi tiét:

A. coincided (v): trung, xdy ra cung lac

B. originated (v): bat dau, khdi nguon, bat nguén

C. compared (v): so sanh

D. occurred (v): xdy ra

Ushering in a new year signaled a time of both death and rebirth, something that was doubly symbolic because
it () coincided with the end of a bountiful harvest season and the beginning of a cold and dark winter season
that would present plenty of challenges.

Tam dich: Nam méi bat dau bao hiéu thoi diém ctia ca cai chét va sy tai sinh, mot diéu gi d6 mang tinh biéu
twgng gap doi bai vi no trung véi sy két thic cia mot mua thu hoach boi thu va bat dau mot mua dong lanh gia
va tam t6i sé mang dén nhiéu thir thach.

Cau 37: Pap an C

Phwong phap giai:

Kién thirc: Pai tir quan hé

Giai chi tiét:

A. which: cai ma => thay cho tw chi vat

B. whom: ngudi ma => thay thé cho ttr chi nguoi, dong vai tro tan ngit cia ménh dé quan hé (sauno la S + V)
C. who: ngwoi ma => thay cho tw chi ngwoi, dong vai tro chi ngit hodc tan ngit cia ménh dé quan hé (sau né
la'VhoacS +V)

D. what: cai gi

“those” ¢ day la dai twr thay thé cho ti chi ngwoi (vi c6 dong tr “believe” (tin twdng) am chi hanh dong cua
con nguoi) =>loai A, D
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The pagan-turned- Christian practices of dressing up in costumes, playing pranks and handing out offerings
have evolved into popular traditions even for those () who may not believe in otherworldly spirits or saints.
Tam dich: Céc tap tuc bién thanh ngudi theo dao Thién chiia la héa trang, choi kham va trao d6 cting da phat
trién thanh truyén thong pho bién ngay céa doi véi nhitng ngwoi c6 thé khong tin vao cac linh hon hodc thanh
dia & thé gidi khac.

Cau 38: Pap an B

Phuong phap giai:

Kién thirc: Trang tir lién két

Giai chi tiét:

A. Moreover: hon nita, ngoai ra

B. However: tuy nhién

C. Instead: thay vao do

D. Therefore: vi vay

The pagan-turned- Christian practices of dressing up in costumes, playing pranks and handing out offerings
have evolved into popular traditions even for those who may not believe in otherworldly spirits or saints.
However, whether Halloween celebrants know it or not, they’re following the legacy of the ancient Celts who,
with the festival of Samhain, celebrated the inevitability of death and rebirth.

Tam dich: Céc tap tuc bién thanh ngudi theo dao Thién chiia la hoa trang, choi kham va trao do cting da phat
trién thanh truyén thong pho bién ngay ca doi vai nhitng ngwoi c6 thé khong tin vao cac linh hon hodc thanh
dia & thé gigi khac. Tuy nhién, cho du nhitng ngudi ky niém 1é hoi Halloween c6 biét hay khong, ho van dang
ti€ép noi di san ctia nguwdi Celt ¢o dai, vdi 1€ hdi Samhain, ton vinh sy khong thé tranh khoi cta cai chét va su
tai sinh.

Cha y khi giai:

Dich bai doc:

Héa trang va choi trick-or-treat (bi gheo hay cho keo) la nhitng hoat dong pho bién trong 1é Halloween, nhung
6 1é it nguai lién két nhitng truyén thong mua thu thi vi nay véi nguén goc cua chiing tir Samhain, mot 1é hoi
ngoai gido co dai kéo dai ba ngay cta ngudi Celt.

Dboi véi nguoi Celt, nhitng nguwdi song trong thoi ky do sat ¢ noi ma ngay nay la Ireland, Scotland, Vwong
quéc Anh va cac khu vire khac cia Bic Au, Samhain (nghia den, trong tiéng Ireland hién dai, "su két thic cia
mua hé") danh dau s két thic ctia mua hé va bat dau Nam méi cua Celtic. Nam méi bat dau bao hiéu thoi
diém cua ca cai chét va sy tai sinh, mot diéu gi d6 mang tinh biéu twgng gap doi bai vi no trung véi sy két thic
ctia mot mua thu hoach boi thu va bat dau mot mua dong lanh gia va tam tdi sé mang dén nhiéu thi thach.
Cuo6i cung, Halloween tré nén pho bién hon trong van héa thé tuc hon la Ngay Cac Thanh. Cac tap tuc bién
thanh ngwoi theo dao Thién chiia la hoa trang, choi kham va trao d6 cting da phat trién thanh truyén thong pho
bién ngay ca do6i v4i nhitng ngwoi co thé khong tin vao cac linh hon hodc thanh dia & thé gigi khac. Tuy nhién,
cho du nhitng ngwoi ky niém 1é hoi Halloween c6 biét hay khong, ho van dang tiép n6i di san cua nguai Celt
c6 dai, vdi 1€ hoi Samhain, ton vinh sy khong thé tranh khoi cda cai chét va sy tai sinh.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct answer to each of the questions from 28 to 34.

Body language is a vital form of communication. In fact, it is believed that the various forms of
body language contribute about 70 percent to our comprehension. It is important to note, however, that
body languages varies in different cultures. Take for example, eye movement. In the USA a child is
expected to look directly at a parent or teacher who is scolding him/her. In other cultures the opposite is
true. Looking directly at a teacher or parent in such a situation is considered a sign of disrespect.

Another form of body language that is used differently, depending on the culture, is distance. In
North America people don’t generally stand as close to each other as in South America. Two North
Americans who don’t know each other well will keep a distance of four feet between them, whereas
South Americans in the same situation will stand two to three feet apart. North Americans will stand
closer than two feet apart only if they are having a confidential conversation or if there is intimacy
between them.

Gestures are often used to communicate. We point a finger, raise an eyebrow, wave an arm — or
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move any other part of the body - to show what we want to say. However, this does not mean that people
all over the world use the same gestures to express the same meanings. Very often we find that the same
gestures can communicate different meanings, depending on the country. An example of a gesture that
could be misinterpreted is sticking out the tongue. In many cultures it is a sign of making a mistake, but
in some places it communicates ridicule.

The dangers of misunderstanding one another are great. Obviously, it is not enough to learn the
language of another culture. You must also learn its non-verbal signals if you want to communicate
successfully.

(Adapted from “Reading Academic English” by Judy Rapoport, Ronit Broder and Sarah Feingold)
Question 39. What is the passage mainly about?

A. Misunderstandings in communication.

B. Interpretations of gestures in different cultures.

C. The significance of non-verbal signals in America.
D. Non-verbal communication across cultures.

Question 40. According to paragraph 1, when scolded by his/her parent or teacher, and American child is
expected to____

BN

A. stand close to the person. B. raise his/her eyebrows.

C. point a finger at the person. D. look directly at the person.
Question 41. The word “intimacy” in paragraph 2 is closest in meaning to

A. enjoyment. B. closeness. C. strength. D. agreement.
Question 42. The word “misinterpreted” in paragraph 3 is closest in meaning to

A. mispronounced. B. misbehaved. C. misspelled. D. misunderstood.
Question 43. The word “it” in paragraph 3 refers to

A. the country. B. an example. C. misspelled. D. misunderstood.
Question 44. As stated in the passage, in order to communicate successfully with people from another
culture, it is advisable for a person

A. to use the body language of the people from that culture.

B. to learn both the language and non-verbal signals of that culture.

C. to learn only non-verbal signals of that culture.

D. to travel to as many countries as possible.
Question 45. Which form of body language is NOT mentioned in the passage?

A. distance. B. posture. C. gesture. D. eye movement.

Question 39. Chon dap an D
What is the passage mainly about?: Noi dung chinh cua doan vdn la gi?

. Misunderstandings in communication: S hiéu nham trong giao tiép
. Interpretations of gestures in different cultures: Sy gidi md y nghia cdc ctr chi dong tdc trong cdc nén van

hoa khdc nhau.

. The significance of non-verbal signals in America: Tdm quan trong cua cdc ddu hiéu phi 10i & nuéc My

D. Non-verbal communication across cultures: Giao tiép phi i qua cdc nén vdn héa

Dan chitng (doan 1): Body language is a vital form of communication. In fact, it is believed that the
various forms of body language contribute about 70 percent to our comprehension. It is important to note,
however, that body language varies in different cultures: Ngon ngi¥ co thé la mét logi hinh giao tiép quan
trong. Thuc té, ngudi ta tin rdng cdc hinh thitc khdc nhau ctia ngén ngir co thé chiém khodng 70% s linh
héi cua chiing ta. Tuy nhién can chil y rdng ngén ngit co thé ciing khdc nhau & cdc nén van héa khdc
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nhau.
Ta thdy ngay dau doan dau tién tac gia da nhan manh viéc ngén ngtt co thé c6 sy khac nhau & cac nén van
héa khac nhau. Cac doan van tiép theo lam r6 hon sy da dang nay ctia ngon ngit co thé cling nhw cw chi,
dong tac — cac hinh thitc giao tiép phi 16i. Vay ¢ day phuong an phu hgp nhat 1a D.
Question 40. Chon dap an D
According to paragraph 1, when scolded by his/her parent or teacher, an American child is expected to

: Theo doan 1, khi bi mdang bdi bé me hay gido vién cua bé @y, mét dira tré My dugc cho la phdi

A. stand close to the person: ditng gan nguoi dé
B. raise his/her eyebrows: ndng may lén
C. point a finger at the person: chi ngén tay vao nguoi dé
D. look directly at the person: nhin thdang vao nguoi do
Dan chitng (doan 1): In the USA a child is expected to look directly at a parent or teacher who is
scolding him/her: O’ nuwéc My, mét dita tré duge cho la phdi nhin thdng vao bé me hay gido vién khi ho
mdng chiing.
Vay dva vao dan chitng ta chon dép an diing la D.
Question 41. Chon dap an B
The word “intimacy” in paragraph 2 is closest in meaning to : Te “intimacy” trong dogn 2 gan
nghia nhdt véi
B. closeness (n): sv’ gan giii, thdn thiét
C. strength (n): st‘c manh, s manh mé
D. agreement (n): sw dong y, théa thudn
Ta thdy: intimacy (n) = closeness (n): s’ gan giii, than thiét
Vay chon dap an dung la B.
Question 42. Chon dap an D
The word “misinterpreted” in paragraph 3 is closest in meaning to : Ttr “misinterpreted” trong
doan van 3 c6 nghia gan nhat véi
A. mispronounced: phdt Gm sai
B. misbehaved: cw xtt sai phép tdc
C. misspelled: ddanh van sai
D. misunderstood: hiéu sai
Ta thdy: misinterprete (v): gidi nghia sai, hiéu sai = misunderstand (v)
Vay ta chon dap an dang la D.
Question 43. Chon dap an C
The word “it” in paragraph 3 refers to : Tir “it” trong doan 3 y chi
A. the country B. an example. C. sticking out the tongue D. making a mistake
A. the country: quéc gia
B. an example: mot vi du
C. sticking out the tongue: the [u0i
D. making a mistake: phgm mét sai lam
Dan chitng (doan 3): An example of a gesture that could be is sticking out the tongue. In many cultures
it is a sign of making a mistake, but in some places it communicates ridicule: Mot vi du ctia dong tdc (co
y nghia khdc nhau trong cdc nén vin héa khdc hau) la viéc thé ludi. O nhiéu nén vdn héa, né la mét ddu
hiéu ctia viéc mdc 16i sai nhirng & mét s6 noi no biéu thi su giéu cot.
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Nhu vay dua vao dan ching trén ta chon dap an dung la C.

Do6i khi ta can mé rong pham vi d6i chiéu dé thdy dwgc maot van canh toan dién hon, tranh mac sai lam.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct
answer to each of the questions

The human desire for companionship may feel boundless, but research suggests that our social capital
is finite. Social scientists have used a number of ingenious approaches to gauge the size of people’s social
networks; these have returned estimates ranging from about 250 to about 5,500 people. An undergraduate
thesis from MIT focusing exclusively on Franklin D. Roosevelt, a friendly guy with an especially social job,
suggested that he might have had as many as 22,500 acquaintances. Looking more specifically at friendship, a
study using the exchange of Christmas cards as a proxy for closeness put the average person’s friend group at
about 121 people.

However vast our networks may be, our inner circle tends to be much smaller. The average American
trusts only 10 to 20 people. Moreover, that number may be shrinking: From 1985 to 2004, the average number
of confidants that people reported having decreased from three to two. This is both sad and consequential,
because whoever has strong social relationships tends to live longer than those who don’t.

So what should you do if your social life is lacking? Just follow the research. To begin with, don’t
dismiss the humble acquaintance. Even interacting with people with whom one has weak social ties has a
meaningful influence on well-being. Beyond that, building deeper friendships may be largely a matter of
putting in time.

A recent study out of the University of Kansas found that it takes about 50 hours of socializing to go
from acquaintance to casual friend, an additional 40 hours to become a “real” friend, and a total of 200 hours
to become a close friend. If that sounds like too much effort, reviving dormant social ties can be especially
rewarding. Reconnected friends can quickly recapture much of the trust they previously built, while offering
each other a dash of novelty drawn from whatever they’ve been up to in the meantime. And if all else fails,
you could start randomly confiding in people you don’t know that well in hopes of letting the tail wag the
relational dog. The academic literature is clear: Longing for closeness and connection is pervasive. Which
suggests that most of us are stumbling through the world pining for companionship that could be easily
provided by the lonesome stumblers all around us.

(source: https://www.theatlantic.com/)

Question 44: Which best serves as the title for the passage?

A. Why you should prioritize friendship. B. A study characterises our circles of friendships.
C. The limitations of friendship. D. How to make friends, according to science.
Question 45: According to paragraph 1, what is the purpose for mentioning an MIT thesis as an example?

A. To show that human and social bonds do not exist in isolation from each other.

B. To highlight a note-worthy case of ceiling limit for an individual’s social output.

C. To illustrate that different human relationships involve different degrees of effort.

D. To explain the proneness to vulnerability of unnecessarily wide social network.
Question 46: The word “those” in paragraph 2 refers to

A. networks B. confidants C. relationships D. people
Question 47: The word “dismiss” in paragraph 3 is closest in meaning to .

A. disperse B. disregard C. abandon D. forget
Question 48: The word “dormant” in paragraph 4 is closest in meaning to .

A. latent B. inert C. asleep D. frisky

Question 49: The following statements are true, EXCEPT
A. Social scientists are very creative in their methods to measure a person’s sociability.
B. If one has a large number of relationships, it must mean that they are all superficial.
C. Most of the studies listed are instructive on socialising methods and recommendations.
D. A normal person require a number of 200 hours on average to form a close friendship.
Question 50: Which of the following can be inferred from the passage?
A. Individuals’ ability to manage human relationships is limited.
B. Social capital turns more complicated as a person grows older.
C. Friendship is one of life features that is often taken for granted.
D. Every human relationship in life has an expiration date.
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KEY

Nghién ctu cho thay rang khat khao tinh ban ctia con ngwdi 1a vo bién dau cudc song xa hoi la hitu
han. Cac nha khoa hoc xa hoi da tiép can mot cach khéo 1éo dé danh gia quy mo6 mang xa hoi caa wéc tinh 250
— 5000 nguoi. Mot luan an tir dai hoc MIT vé Franklin D. Roosevelt, mot anh chang than thién v&i mot cong
viéc xa hoi dac biét, da chi ra rang anh ta c6 thé c6 tdi 22.500 ngwoi quen. DBé nhin nhan cu thé hon vé tinh
ban, mot nghién cttu st dung viéc trao dai thiép Giang sinh nhw mdt minh chitng gan giii da cho thay trung
binh c6 khoang 121 thanh vién trong mot nhom ban.

Tuy s6 lvgng nguwdi quen nhiéu la thé, con s6 thue sw bén trong c6é thé it hon. Trung binh mdt ngudi
My chi tin twdng tir 10 dén 20 nguwoi. Con s6 nay c6 thé thu hep lai: Ttr nam 1985 dén nam 2004, theo nhu bao
cao ghi nhan, con s6 nay da giam tir 3 vé 2. Pay la mot diéu dang buon va tiéu cye béi bat ki ai ¢6 nhiéu moi
quan hé xa hoi tot dep thwong song lau hon nhitng nguai khac.

Vay, ban nén lam gi khi thiéu di cac moi quan hé xa hgi? Hay lam theo nghién citu sau day. Pau tién,
dirng xem nhe cac moéi quan nhé nhat béi ngay ca viéc twong tac véi nhitng nguwoi thude tang 16p xa hoi thap
kém cling c6 thé tac dong tich circ dén hanh phiic ctia mo6i chiing ta. Ngoai ra, viéc xay dyng tinh ban sau sac,
gan bo doi hoi ching ta phai danh nhiéu thoi gian.

Mot nghién cttu gan day ctia dai hoc Kansas chi ra rang mat khoang 50 tiéng dé mot nguoi xa la trd
thanh ngwoi quen, thém 40 tiéng dé thyc sv trd thanh ban bé, va tong cong gan 200 tiéng dé trd thanh ban be
than thiét. Néu nhu diéu d6 c6 vé can qua nhiéu no luc, hay thir gy dung lai cac moi quan hé ban bé. Két n6i
lai v@i ban bé c6 thé nhanh choéng 14y lai phan 16n niém tin da xay dung truedc do, dong thoi mang dén cho
nhau nhiéu diéu mdi la ti nhitng gi ho da trai qua cung nhau. Ban c6 thé tam sy vdi bat ki ai ma ban khong hé
quen biét néu ban gap that bai trong cudc song — vi du trén lam ro y kién vé tim nguwdi gan bé va twong tac vai
nhau dang dién ta tran lan. Hau hét ching ta dang loay hoay dé tim ban dong hanh lu6n & bén canh chiing ta
trén cudc doi nay.

Question 44: Which best serves as the title for the passage?

A. Why you should prioritize friendship. B. A study characterises our circles of friendships.
C. The limitations of friendship. D. How to make friends, according to science.
Pap anD

Chu dé chinh caa doan van la gi?

A. Tai sao ban nén wu tién tinh ban.

B. Mot nghién cttu dac trung cho vong tron tinh ban cua chung ta.

C. Nhitng han ché cta tinh ban.

D. Cach két ban, theo khoa hoc.

Can ct vao thong tin: (xuyén sudt cac doan)

The human desire for companionship may feel boundless, but research suggests that our social capital is finite.
(Mong muoén doéng hanh ctia con nguoi cé thé cam thdy vé bién, nhung nghién cttu cho thdy vén xd héi cta
chting ta la hitu han.) &

So what should you do if your social life is lacking? Just follow the research.

(Vay ban nén lam gi néu cudc song xa hoi caa ban thiéu thon? Chi can lam theo nghién citu.) &

Even interacting with people with whom one as weak social ties has a meaningful influence on well-being.
(Ngay ca viéc twong tdc voi nhitng nguoi ma moi quan hé xd hgi yéu kém ciing cé anh huéng co y nghia déi
v@i hanh phtc.) &

The academic literature is clear: Longing for closeness and connection is pervasive.

(Cdc tai liéu hoc thudt la r6 rang: Mong muén gan giii va két noi la pho bién.)

Giai thich: Xuyén su6t cac doan la nhitng nghién cttu dé tinh ban, dwa ra tam quan trong cua tinh ban (mot y
nho) dé dwva ra, thic day nguwoi doc két ban. => Déap an D

Question 45: According to paragraph 1, what is the purpose for mentioning an MIT thesis as an example?
A. To show that human and social bonds do not exist in isolation from each other.
B. To highlight a note-worthy case of ceiling limit for an individual’s social output.
C. To illustrate that different human relationships involve different degrees of effort.
D. To explain the proneness to vulnerability of unnecessarily wide social network.
Pap an B
Theo doan 1, muc dich dé de cdp dén mét ludn dn MIT la mét vi du la gi?
A. Dé€ chi ra rang sy gan két giita con ngwoi va xa hoi khong ton tai trong sy ¢6 1ap véi nhau.
B. D€ lam ndi bat mot treong hop dang chi y 1a gidi han cho m6i quan hé xa hoi ctia mot ca nhan.
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C. D€ minh hoa rang cac moi quan hé khac nhau cta con nguoi lién quan dén mitc d6 no lwc khac nhau.

D. Dé giai thich mitc d6 dé bi ton thwong ctia mang xa hoi rong khong can thiét.

Can cit vao thong tin:

Social scientists have used a number of ingenious approaches to gauge the size of people’s social networks;
these have returned estimates ranging from about 250 to about 5,500 people. An undergraduate thesis from
MIT focusing exclusively on Franklin D. Roosevelt, a friendly guy with an especially social job, suggested
that he might have had as many as 22,500 acquaintances.

(Cdc nha khoa hoc xd hoi da st dung mét s6 cdch tiép cdn khéo léo dé danh gid quy mé cta con ngudi mang
[wdi xd hoi; nhitng ngudi nay da cé dugc wdc tinh moéi quan hé tir khoang 250 dén khodng 5.500 nguai. Mot
lu@n dn dai hoc tw MIT tdp trung hoan toan vao Franklin D. Roosevelt, m{t anh chang thdan thién véi mot
cong viéc xd hoéi ddc biét, cho rdang anh ta co thé co tdi 22.500 nguoi quen.)

Giai thich: Franklin D. Roosevelt c6 mot mang lw6i xa hoi dang chu y va vugt xa hon so v6i nguoi binh
thuwong

=>Pap an B
Question 46: The word “these” in paragraph 2 refers to

A. networks B. confidants C. relationships D. people
Pap anD

Tir “those” trong doan 2 dé cdp dén .

A. mang lué6i

B. nguoi tam s, than tin

C. moi quan hé

D. nguoi

Can ci¥ vao ngit canh:

This is both sad and consequential, because whoever has strong social relationships tends to live longer than
those who don’t.

(Piéu nay vira buon vira dem lai két qua, bai vi bat ¢ ai c6 m6i quan hé xd h6i manh mé déu cé xu hudng
song ldu hon so vdi nhitng nguoi khéng cé.) => Bap an D

Question 47: The word “dismiss” in paragraph 3 is closest in meaning to .
A. disperse B. disregard C. abandon D. forget
Pap an B
Twr “dismiss” trong doan 3 co nghia gan nhdt véi
A. phan tan
B. khong can nhac, xem xét hodc phét 1o di vi xem n6 la khong quan trong, coi thuwong né (hoan toan la do yéu
t6 cht quan chu tam lam vay)
C. tir bd, ruéng bo
D. quén, hoan toan khong nghi gi dén ai/cai gi (don gian vi khong thé nhd duwge n6; mang tinh khach quan vi
khong c6 y dé quén)
Can ci¥ vao ngit canh:
To begin with, don’t dismiss the humble acquaintance.
(Quan trong nhat la dirng bo qua nhitng nguoi quen khiém ton.)
=> Dismiss (v): bd qua, lang quén vi xem ho khong quan trong hodc khong dang dé can nhac, xem xét hay
nghi vé ~ disregard
*Note: To begin with = first: dau tién 1a; quan trong nhat la

Question 48: The word “dormant” in paragraph 4 is closest in meaning to .
A. latent B. inert C. asleep D. frisky
Papan A
Tir “dormant” trong doan 4 c6 nghia gan nhat véi
A. tiém an, an dat
B. tro
C. bu6n ngu
D. dang sg¢
Can cit vao thong tin:
If that sounds like too much effort, reviving dormant social ties can be especially rewarding.
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(Néu diéu do6 c6 vé nhu qua nhiéu nd lwce, lam song lai cac moi quan hé xa hdi khéng hoat dong co thé dac
biét bo ich.)
latent ~ dormant => Dap an A

Question 49: The following statements are true, EXCEPT
A. Social scientists are very creative in their methods to measure a person’s sociability.
B. If one has a large number of relationships, it must mean that they are all superficial.
C. Most of the studies listed are instructive on socialising methods and recommendations.
D. A normal person require a number of 200 hours on average to form a close friendship.
Pap an B
Cdc tuyén bé sau ddy la ding, NGOAI TRU
A. Cac nha khoa hoc xa hdi rat sang tao trong cac phuwong phap cta ho dé do lwong tinh xa hdi ciia mot nguoi.
B. Néu mot ngudi c6 so lwong 16n cac moi quan hé, diéu dé c6 nghia la tat ca ho déu hoi hot.
C. Hau hét cac nghién cttu duogc liét ké la hwdng dan vé cac phwong phap va khuyén nghi xa hgi hoa.
D. Mot ngudi binh thwong can trung binh 200 gio dé hinh thanh mat tinh ban than thiét.
Can cit vao thong tin:
- Social scientists have used a number of ingenious approaches to gauge the size of people’s social networks.
(Cdc nha khoa hoc xd hoi da st dung mot s6 cdch tiép cdn khéo léo dé danh gid quy mé cua con nguoi mang
lwoi xd hoi) => Loai A
- ... and a total of 200 hours to become a close friend.
(va tong céng 200 gio’ dé tré thanh mét nguoi ban than thiét.) => Loai D
- So what should you do if your social life is lacking? Just follow the research. To begin with, don’t dismiss
the humble acquaintance.... Beyond that, building deeper friendships may be largely a matter of putting in
time.
(Vay ban nén lam gi néu cudc song xa hoi caa ban thiéu thon? Chi can lam theo nghién citu. Dé bat dau, don
16ng bé ngudi quen khiém ton... Ngoai ra, xay dung tinh ban sau sac hon c6 thé phan 16n la van dé dat thoi
gian.) => Liét ké cach dé xa hoi héa => Loai C
- B khong c6 thong tin khong bai => Pap an B
Question 50: Which of the following can be inferred from the passage?
A. Individuals’ ability to manage human relationships is limited.
B. Social capital turns more complicated as a person grows older.
C. Friendship is one of life features that is often taken for granted.
D. Every human relationship in life has an expiration date.
Pap an A
DPiéu nao sau day cé thé dugc suy ra tir dogn van?
A. Khé nang quan ly cdc moi quan hé ctia con ngudi bi han ché.
B. Vo6n xa hai tré nén phitc tap hon khi mot nguai gia di.
C. Tinh ban la mot trong nhitng dac diém cudc song thwong dwoc coi la diéu hién nhién.
D. Moi méi quan hé ctia con ngudi trong cudc song déu c6 ngay hét han.
Can cit vao thong tin:
The human desire for companionship may feel boundless, but research suggests that our social capital is finite.
(about 250 to about 5,500 people.)
(Mong muén dong hanh ctia con nguoi co thé cam thdy vé bién, nhung nghién cttu cho thdy vén xd héi cua
chting ta la hitu han. (khodng 250 dén khodng 5.500 ngui.)) => Dép an A
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